
 
 
 
 

 
 

 
 

 
 
 
 
 
 
 
 
 
 
 

 
 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 

 
 

 
 
 
 
 
 
 
 
  
 
 
 
 
 
 
 
 
 
 
 
 
 

 
  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

 
 
 

 
 

 
 
 
 
 
 

 

Slope-intercept Form: 

𝑦 = 𝑚𝑥 + 𝑏 
where m is the slope and (0,b) is 

the y-intercept 

 
Standard Form: 

𝐴𝑥 + 𝐵𝑦 = 𝐶 
x-int (

𝐶

𝐴
, 0), y-int (0,

𝐶

𝐵
), 𝑚 =

−𝐴

𝐵
 

 

Intercepts: 
Points where the line intersects 

an axis (0,y) and (x,0). 

  

 


